[image: ]       [image: ]

[bookmark: _GoBack][image: ]     [image: ]

[image: ]     [image: ]	  


[image: ]
[image: ]          [image: ]

[image: ]     [image: ]

[image: ]     [image: ]


- - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
[image: ]     [image: ]     [image: ]


[image: ] [image: ]



[image: ]     [image: ]   [image: ]




[image: ]     [image: ]

image6.jpg
I'm 10

Mhat | had to do:
11t find 25 many ways o et ten, my age.The answrsshoud be abou tingsthat | am eaming ahout
inmath and s be 45 ique s possibe wth myidee.

Peiinter,
I um

11jzm "m"" 11z +1/Z(m Perimeter= Scm en

1m xn

A perimeter of
10m

Fragtions:
5% dh2% <hll/15 =10

i 743, 8+2, 9+1, 5 4+ 43, 3 1 6, 3.25+6.75, 425%+575%
suwaion 63- 53, 738-728, 15 %-5 10/12, $52.45-$42.45





image7.jpg
Quts"u»\

’ i Tame G
Using oo aye, Fry b0 Hinks o€ qcions b+4=10 2taumls
W3 fo mmake Hoat ot USing odifen, Stg=lo Si64=10 Creal
5%‘“%”«:4»«"‘“'““ dio 2+8slo £111=10

0. Tey by o i

vltiphcation 3,..,
ks
Bx270 Pel211 - exz=tz L%

Ixlozlo uxzzpp 1xpore
14-2-7=lo  yrpp-15-2m12

257-2-33(g 2073212

Mined o,
((fsx:z)—[);s)q:(z (r5p2=0 W0

| : (20:2r5zl0
) gg‘}zﬁg"‘;ﬂ\c (5x5r2045=10





image8.jpg
Ths s melh protiem was  fe  fake

gar age and
many wags Yot Can moke ywme age o adding "
Sublracting multiplfing or  dividing:

e are some of bhe mys 4os can make chvent

5515.5=





image9.jpg
DIz
| ozt
PELE
jegan
yezzll
Sesl
porz

27z
28 =172l
24~ 180
30 -1azl
J1 - 2021
Thie i+t
Leie 1404
Terpasn
szl
ar24nt
2424140
Gy ezeil
PRTIREL
PRI





image10.jpg
(5=l Ya7=\\ Wwa\sW

21:22 W

x1=\

104121 Wee=u = 23
qe2=\\ §423:0 5+ 6\ 9x55=\! 55233\

66762\
=
[N
A9=a=w
wozvoz\\
w2\z\\=\
132242=\\
\W=\d=\

=\
LTy 1 3@,:\\ 552
2+9:u \xlo=ll

otllz1\




image11.jpg
-
‘:.ooo-ﬂh-. f G ) Corte
Subbeadion m | L 5-5~5-5:AJ..L,HM"L'—: i
u+*<
- @ nelaws T At @ f
i Nz e = no=
4qooo—°lﬂ%ﬁ‘- © 24l= . ! 1
i o i|” 250" 343" ¢
” 20, P-E= '3,1__ . O'”" N 9-
W=3% o g g J|o mio= 2.5 »53'.;__ |
TS b e e TS
A - ..
D.vision Mil)e abiphcabion
= ) -yl
Jos} 11 =7= gV 1”‘"-:';;94'
1324127 ol RS
11%) a5t as® I
22 %, R ) ]
% g 225 PRISUN
- R as O





image12.jpg
restion

[Ths challenge 5 fo

£l @ vacicly of

s o askng question
Hat make 8)i0





image13.jpg
—I
IM B
A s"/\ﬂ/
o—q- Sy '
,2, =g =l %‘L;}arv \P)'\&’\/l\< ) L\&‘(x‘
e e Wes A0 s
Youl =gy Cwmt fy |\> e

Yo~ 99
1«7/,; 2’:\\

\oo _éq




image14.jpg




image15.jpg
Im Eleven

Brorne

: We had to find out
Gifferent woys to moke 11 We hod to think woys people
hove never thought of moking 1. Also, we had to use all
the mathematicol deds we knew not just the normol
‘ones like adding and subtracting

My worlg Adding: 0411, 410,263, 348, 4+7, 546, 645, 74,
843,9+2,10v1,11+0 Subtract: 3524, 67-56, 159-148, 265254, -
100.89,38-27 There's on infinite amount of onswers these.
ore just some. Multiplcation: T, 21, 3¢1, 41, Sx1l,
1,71, BT, 91, 1081, T, 12411, 1351, 141 151, 161,
1711, 181, 19511, 20x11 and ect... Divisions 220/20, 209715,
198/18,187/7,176/16, 165715, 154/14, 14313, 132/12, 1211,
110710,99/5,88/8, 7717, 64/6, 55/5, 44/4, 33/3, 22/2, 11,

ect. Froctions (Additionf: 5 2/4+4 12,5 3/4+5 2/8 (These
ore just some ideas), Perimeter: First box length- 112

ond width- 2/4= 2. Second Box length- 2 and width-21/2 _
that =9 then, 9+2-1,(Of course this s not the only way to.
moke 1l using perimeter).

First Box E Second Box





image16.jpg
tim ® T Tey

Some._Egles
k. o jﬁl Ft5lo (0o~
dﬁsﬁuw W | T bd iee. 2b=p 2025b
Jou con mafe, Yot Bhere s 3023200 iloslo
o, | \«41,4" Pasibitfes -k (0 SLe=lo
| s g,
i | 4 Solgfim

Svnnay b o s

e I I O Ry e

: RN REREER Willilloo=

3"51. p‘ c xiH | | ‘ EREEEE o

saliaited | i) | ' [

O Tewtle T




image17.jpg
M!Eo
W

°
!

b

5f‘55ur sxz 4" b

. Q)
05

4D+1 7l
Lr W Fx
oo s ) o 2 (623)

(5x2)* U |> 29& 16

2’ - 4 ,
#:0:3)  s 2-9+3
#7453 (scd- (Z)\’L) (2+2) (‘**1)
(sx2)-2 So-7 loo - 90
(24 ZH 3+2

é;‘f (‘fxa) o

b+

Lo =4
loo=|o
3000+ 300 §





image18.jpg
Suzy 22
I'm eleven Explanation
There are inFiiite ways to get I
Problem to answer: ity itk
How mony ways can you get the  dvision but, with multpication
answer | | by usng mutiplication  there is only one way to get L
dwision, subtraction and addfion ?  because 16 a prime rumber. A
prime rumber is diisie by the
rumber 1 and itself. Some
examples of a prime number
are 2,35 and 7 because you
can only dwide them by 1 and
themselves.

Patterns: ( just some examples) Patterns: (just some examples)

HIO=I 15-4=1 I W=l
2+49=1 14-3=Il 22/2=1
3+8=Il 13-2=1 33/3=1
4+7=1 2-=1 44/4=1
54+G=I. 1-O=I 55/5=1

Co/G=I




image19.jpg
— oy l
teq 1EMDAS
oy 14 (4¥2)7
727 HM«HH):
660 § rgma)e
5% \
-4 Perndis o Bedunac
-3 }m\mnfg

0L Shauel som
11610

\

noke

1T

overy quetiat 0f 1
Needs To be dided by
he dark humers beirt
Hhe Fu5Y naher





image20.jpg
ADOITION
MULTIPLICATION

SUBTRALIION
= DivIsION

s etk and xid @ op
i was s egath /;'m,/o‘j

l’M Elgh"’ AnA

went b0 Cluss erir
7 mie anel serd 4h
in Hars probiem 1 hued 4o come up with es
wany vays 40 rieke § or my own cg e,/ chose

brh=3% 5+5=% too—saz=sf] 177773
3+0=9 '9»9 =3 l = nnl 3193
'ua: kS gll <B=% 0-10=% )

88:11=%  Mmam/

sx1=%
Fel=% [ ws-40-3
0+8=% | 127ug=3

ea. . . I3+5:§ sy
Lrb=t 12 —@%I MATH )
of =, %, + 30 | = § . |
thet (wouldfird] 3x12b<22% F L2y T
GRS Z‘b:5l7l“/:$|(\’|mﬁ—r/

Usome hnes thece ki€ ne mre.
et 0o ¢ il I AT )





image21.jpg
[wm eleven

Y g b —img ¢
La6 60~2’4
=60
ﬁ% 3129
219 4t -3
1o 71-c7
6+ LI
55 1109 17~86

|
rete Yhereare M’f; N
" v
"n dmh«m\ N \L“ oah?”\, 5
ot oment n el

d:(wr» ul wak
oL Wss,\,.l.hoﬁ oloven make

ko




image22.jpg
tfues’hpn What ways E;;lel;'; MAR
Y R
H—E RM @EG&GT Divisiont EMDQ

O] CTA[For o 241hum teerc ore Mty My Diigon shiabeqy is gk like
NIRRT fviy

Snblact.on bet elibHe Los [ iFrerept,
s
[ttt First TAkea MULT iple oF ¢
IF yow sth the mumbers [y, e,

arown) youhae Spesilic| 4o gof
K st o6

anl g,

NOW SWEICh He § et 10l pn) yon,

K Wl gk i answer of:
THAM Fond B Pard K very oy to o)

Firct, TARC Anm e Tike 24,
L4=-C=1
Aty fat,
LR Hhe T and g

Ty AR e gy
okt

Just Vike atdediTeivorn
CEZzaaaail

o renet m any Wiy,

Ol rwm bers st be
Aboveg!

Tn fe

o Heereare only 2!

agein.

V0w St ih taen
Yo have doyple hue options,

|oed e





image23.jpg
3
Fn fday!

L The-cphestin

| B oo b

| 5% N
2 b b e iy o e
3tk e 7 e gt

4 %k s
04 kY e dollegs. sl

| uxle2eb T Fet bhd of e .md e o
215k '."k.‘;?i’?“'"’*uﬁdm’«”
3% %h dﬂﬂvqhufvﬂ-bv‘-&uw;u
\ btk N w b Uh bl ot sag
5 4554 11 ‘5 " ”?,I [ “4»1
oo _ddi " Mol
|4zt m} o b "";“”’

B o
2.824% [ mH e it by
F-sikl





image1.jpg
'm [Eiah | Akssandr
M—L?—J‘ _Leve| 4 (nkding Esmhng) SHO Z‘i/q/?q
Add tion: ey, w0, N\

J g 2, ~ e
91+% 4 5 Thye | B D750 0950y,
b5

DU, 6) 56655, 7 | =
-
Notes Tam ot wfitng Level 7 guin B
oY becace T alceady M i

S
wlere “ y4+p's T do'

o 10 T “\ypike 1+, m*v'on,' X0 Q
2 x5, -

Divisin:q) 1o 1,
15085, 3402, |
Y)aein, 5550

Quetions e C}\u!’é’ﬂée\
15 acout €nding a
ety O viagsorgrking
LT whith frake 1pY
tHowewel 41y 4o (R ofe
€Yun ples thatuse alf
e i Coven F matheraticd)
ideas Hhok you fnew a(olt.

SubttacFiort 4y ,,





image2.jpg
Shedy @ =Titks

T am Ten (o) o ~wrtog
o = Math. equakions

-Q“fiﬁ"\' : | 9 =Orowings

5 g T
How many Equatiors Wil be el © 107 |

|
o o Drawigy eecHons

“v = Qx5 =10
- ™\ (7

L S —_
/\N\\\ﬂj \9 There O tnany Ways o ges to (0, buktvres

ore Just o Fer) OF Wwape)




image3.jpg
a1 Mhgr

N

@\ Jie chalitnge. IS about (r'/w}mj a variely

of agK,‘nj QueStiong WGk pae -
E : " x) i

= 2= 1%0= 21-1=71 Nkxi= 1)
22%2=M 21§=ﬂ ;3—2=M
B #4241 lo+4=11 17-loa=14
33 +3=11 FHE=11 20 -9 =11
EB 25=m F+2=71 22 -l1=11
Mo $#Ib=1 ~ .

Evendogh There ore iNfinide  wags  of WK:'H 11/
there oS only 1 way toget 11 i M iplo Godion,  becauS
MiS o Pime nwnmberl Some other Frime numbers og-
Ziii'ﬁi;awzsac





image4.jpg
An&reﬂ.(

sy 1

whal T
Toumd odf

age \nn\:’f

WA s as you
hn\i‘) g

00 (008 0 O s PR
Sh’qha} Ny Ar.\;ﬂ

ivsh do te ¢

"\A - 5 Fhen the
the

bt
whion 8 1

vision For lask.
for my wlbgliation
11 will e, e <88
| will dvide the seend
nawbes ex: 11376 and
dowblethe 1o manber
ex: 10328 which shodld
u\u;( o 224, L also
found oul Yhak tere
are infiwibe psibiliies
because like | said

Shoall divide ‘y o

0w
we ore NFinife numbers]

NRIGH NATH (158ondlsf Olfo5/14

Workh\ oul/Eramples
Hz,q 1R b 35,44 - 144, 2410, w 4,12, -5+13,-b 19, - 1415~ ms 9r13,-10-13,
”WW*WW”MMW,MIQ 2,1
24135, 14-b, (5.3, (6-8, (7-9, 18- 10, 14-1, 20-12,21-13, 22-1, 28-25, 24 26, 25-2F,
142, 322Y,64:3,128+10,264- 32,512+ b, 1024 +128, 2043 225, YD 96412,
3142+1212,16,388 - 2424,

agh inbinily

- GO





image5.jpg
Ren '1.M¢j,\q

How ey
€4 Mations
G You wake

bt = ko1

Etapls: ucay

W\ +0=1l Gheg=
o=l u,_i%,':‘\}
A=y 172 720
8\—'!,: 1
Tey=A
(A
=N
13-2=0
14-3 =0
g-4 =1
Wb =\
\7_L b= ||
\g-1=4
R

T fund

Bk bheve

wére

b1 Skrat g
[DMW Vi W@[;\ga b g
by tadig U, U e 08 At 2
*M"('S (S 55’%«19,‘





